SETHEREMHE Pneulesad’

B JARYFHELINERTE (mm)

MK MJ MF
4 A
,,,,,:,j E
MG
<M£—
MA
BE MA MB MC ME MF MG MH M) MK
JA-6-100 37 15 4 6 M6X1.0 5 16 7 M6X1.0
JA-8-125 51 20 6 8 M8X1.25 12 24 8 M8X1.25
JA-10-125 60 22 8 M10X1.25 12 26 10 M10X1.25
JA-12-125 65 24 8 8 M12X1.25 12 28 12 M12X1.25
JA-14-150 74 25 10 8 M14X1.5 13 35 15 M14X1.5
JA-16-150 90 30 14 12 M16X1.5 14 45 15 M16X1.5
JA-18-150 92 30 14 12 M18X1.5 18 45 18 M18X1.5
JA-20-150 102 30 17 15 M20X1.5 18 53 22 M20X1.5
JA-27-200 125 40 20 18 M27X2.0 22 63 30 M27X2.0
JA-36-200 155 48 25 25 M36X2.0 40 88 40 M36X2.0
B AURZIERELIMERTE (mm)
- e
—_— dl ,,,,,i,,,,,dk
[y | |
© s
+ i h b
» | i
‘: 1 DSE
ds| di
w ds
fili=3 d ds 6H B Cy W h: d: La Ls ds ds de 153 min a
AU-4-070 4 M4X0.7 8 6 9 27 18 36 4 8.5 11 11.11 10 13
AU-5-080 5 M5X0.8 8 6 9 27 18 36 4 8.5 11 11.11 10 13
AU-6-100 6 M6X1.0 9 6.75 11 30 20 40 5 10 13 12.7 12 13
AU-8-125 8 M8X1.25 12 9 14 36 24 48 5 12.5 16 15.875 16 14

AU-10-125 10 M10X1.25 14 10.5 17 43 28 57 6.5 15 19 19.05 20 13

AU-12-125 12 M12X1.25 16 12 19 50 32 66 6.5 17.5 22 |22.225| 22 13

AU-14-150 14 M14X1.5 19 13.5 22 57 36 75 8 20 25 25.4 25 16
AU-16-150 16 M16X1.5 21 15 22 64 42 85 8 22 27 |28.575| 28 15
AU-18-150 18 M18X1.5 23 16.5 27 71 44 93 10 25 31 31.75 32 15

AU-20-150 20 M20X1.5 25 18 30 77 50 102 10 27.5 34 |34.925| 33 14

AU-27-200 30 M27X2.0 37 25 41 110 70 145 15 40 50 50.8 51 17

AU-36-200 35 M36X2.0 43 28 50 125 81 165.5 17 46 58 57.15 56 16

AU-42-200 | 40 M42X2.0 49 33 55 142 91 187.5 19 53 65 66.67 60 16

AU-48-200 50 M48X2.0 60 45 65 160 117 | 218.5 23 65 75 82.5 65 12

196





